
CKP5454GLD
BATTLESTATION L-SHAPE GAMING DESK

ASSEMBLY INSTRUCTIONS

WARNING
1.	 Do not use unless all bolts screws and knobs are
	 securely tightened.
2.	 Check that all bolts screws and knobs are tight every three 

months or as needed.
3.	 Dispose of packing material properly.  Do not use plastic cover 

as head covering.  It may cause suffocation.
4.	 Do not use as a stepladder.
5.	 Use for its intended purpose only.
6.	 Use mild detergent only for cleaning.



STEP 2

STEP 1 PART QTY
1.  Left Side Frame . . . . . . . . . . . . . . . . . . . . . .1
2.  Right Side Frame . . . . . . . . . . . . . . . . . . . . .1
3.  Left Desk Top . . . . . . . . . . . . . . . . . . . . . . .1
4.  Right Desk Top . . . . . . . . . . . . . . . . . . . . . . 1
5.  Tension Bar  . . . . . . . . . . . . . . . . . . . . . . . . .4
6. Storage Tray  . . . . . . . . . . . . . . . . . . . . . . . .1
7.  Accessory Hook . . . . . . . . . . . . . . . . . . . . .1
8.  Cup Holder . . . . . . . . . . . . . . . . . . . . . . . . . .1
9.  Wireless Charger . . . . . . . . . . . . . . . . . . . . .1
10.  Power Oulet . . . . . . . . . . . . . . . . . . . . . . . . .1
11.  Remote Control . . . . . . . . . . . . . . . . . . . . . . .1
12.  LED Power Supply . . . . . . . . . . . . . . . . . . .1
13. Back Leg  . . . . . . . . . . . . . . . . . . . . . . . . . . .1
14.  Left Front Crossbar . . . . . . . . . . . . . . . . . . .1
15.  Left Back Crossbar . . . . . . . . . . . . . . . . . . .1
16. Left Lower Crossbar. . . . . . . . . . . . . . . . . .1

HARDWARE QTY
A. Floor Leveler . . . . . . . . . . . . . . . . . . . . . . . .4
B. Wire Clip  . . . . . . . . . . . . . . . . . . . . . . . . . . . 4
C. Bolt (M6 x 12mm) . . . . . . . . . . . . . . . . . . . .12
D. Bolt (M6 x 32mm)  . . . . . . . . . . . . . . . . . . . . 2
E. Flat Head Bolt (M6 x 25mm) . . . . . . . . . . .14
F. Flat Head Bolt (M6 x 28mm) . . . . . . . . . . . . 4
G. Bolt (M6 x 28mm)  . . . . . . . . . . . . . . . . . . . . 4
H. Machine Screw (M4 x 12mm) . . . . . . . . . . .10
I. Wood Screw (M3.5 x 12mm) . . . . . . . . . . . . 2

STEP 4

STEP 3

CKP5454GLD

ASSEMBLY INSTRUCTIONS

CKP5454GLD

ASSEMBLY INSTRUCTIONS
CHECKPOINT BATTLESTATION L SHAPE GAMING DESK CHECKPOINT BATTLESTATION L SHAPE GAMING DESK 

17. Right Front Crossbar . . . . . . . . . . . . . . . . .1
18. Right Back Crossbar. . . . . . . . . . . . . . . . . .1
19. Right Lower Crossbar. . . . . . . . . . . . . . . . .1
20. Upper Crossbar. . . . . . . . . . . . . . . . . . . . . .1
21. Top Shelf. . . . . . . . . . . . . . . . . . . . . . . . . . .1

J. Allen Wrench  . . . . . . . . . . . . . . . . . . . . . . . . 1

(1)

(A)

(A)

(2)

(16)

(15)

(C)

(J)

(C)

(J)

(13)

(20)

(1)

TOP

(D)

(14)

(13)

(C)

(1)

(2)

(17)

(18)

(19)

(J)

(H)

(5)

(5)
(5)

(18)

(15)

(19)
(16)

(5)

(H)

CKP5454GLD
BATTLESTATION L-SHAPE GAMING DESK

ASSEMBLY INSTRUCTIONS

CKP5454GLD
BATTLESTATION L-SHAPE GAMING DESK

ASSEMBLY INSTRUCTIONSNS



CKP5454GLD
BATTLESTATION L-SHAPE GAMING DESK

ASSEMBLY INSTRUCTIONS

CKP5454GLD
BATTLESTATION L-SHAPE GAMING DESK

ASSEMBLY INSTRUCTIONS

STEP 6

STEP 5

STEP 8

STEP 7

CKP5454GLD

ASSEMBLY INSTRUCTIONS

CKP5454GLD

ASSEMBLY INSTRUCTIONS
CHECKPOINT BATTLESTATION L SHAPE GAMING DESK CHECKPOINT BATTLESTATION L SHAPE GAMING DESK 

(J)
(2)

(1)

(3)

(G)

(E)
(G)

(2)

(4)

(G)

(J)

(G)

(E)

(17)

(18)

(6)

(9)

(H)

(8)

(7)

(I)
(10)

(21)

(F)

(E)

(J)



CKP5454GLD
BATTLESTATION L-SHAPE GAMING DESK

ASSEMBLY INSTRUCTIONS

STEP 9

CKP5454GLD

ASSEMBLY INSTRUCTIONS
CHECKPOINT BATTLESTATION L SHAPE GAMING DESK 

(21)

(B)

(21)

(12)

(21)

(12)

WIRELESS CHARGER - SAFETY WARNINGS AND INSTRUCTIONS FOR USE

To Power ON the Wireless Charger

Your desk includes wireless charging capabilities using the wireless charger 
as shown. Please carefully follow the instructions and safety warnings below 
before using the wireless charger with your supported device. 

Plug the USB cable from the bottom of the wireless charger into any powered USB 2.0 
port, or any 5V power adapter that accepts a USB plug.

Using the Wireless Charger
To charge your device using 
wireless charging, place the device 
centered on the wireless charger 
face and wait for the device to 
indicate it has begun charging.

Using the USB Charge Port
To charge your device using USB 
charging port, plug in your device’s 
USB charging cord into the USB port 
as shown and wait for the device to 
indicate it has begun charging.

USB Port on wireless 
charger will light up RED
once powered on. The 
charger is now ready to use.

NOTE: The wireless charger included supports most devices with 
wireless charging capabilities. Please consult your device’s OEM 
instruction manual for proper wireless charging use, safety 
warnings, and limitations. Stop using the wireless charger 
IMMEDIATELY if your device becomes hot. Improper use of the 
wireless charger, using non-compatible devices, or tampering with 
the wireless charger in any way may cause device failure, damage, 
or injury.

Voltage: 5V / Input: 5V/1.5A
Output (USB Port): 5V/1A                                                                                                                          
Output (Wireless): 5W

Wireless
Charging Surface

USB
Charge Port

Powered USB Port

5V Power Adapter

SAFETY WARNINGS - PLEASE READ FIRST

Devices with cases
thicker than 4mm 
may not allow 
wireless charging.
Remove the case 
from the device or 
use the USB port 
for wired charging 
instead.

Devices with rings,
kickstands, or 
finger grip 
accessories will 
not allow wireless 
charging. Remove 
the accessories or 
use the USB port 
for wired charging 
instead.

DO NOT attempt to 
wireless charge devices 
with metallic cases, 
metallic attachments, 
or magnetic 
attachments. Remove 
the device from such 
cases or use the USB 
port for wired charging 
instead.

DO NOT allow any metallic foreign 
objects or liquids to come in 
contact with the wireless charger.
Only devices that support wireless 
charging should be put on the wireless 
charger surface.

Rotate the dust cover 90 degrees 
counter-clockwise to cover the USB
charging port when not in use.

ADDENDUM A

SAFETY WARNINGS - PLEASE READ FIRST



DIY 1

R G B W

DIY 2 DIY 3

QUICK

SLOW

AUTO

FLASHDIY 4 DIY 5 DIY 6

FADE7JUMP3 JUMP7 FADE3


